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15 =  - 3

 = 35 - 13

20 =  - 11

5 + 2 - 5
A,  E,  I,  M,  ,   U,  Y 67

9+

Erin has a bowl.  She puts 11 
dimes into the bowl.  Gavin 
sees the bowl and takes 4 
dimes.  How much money 
(in cents) is left in the bowl?

Make your own 

equation.

 - 5 = 

If you know
 90 + 19 = 109
Then what is 90 + 17?
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80 =  tens

470 =  tens

4,380 =  tens

790 =  tens

Find a clock.  What time is it 
right now? Make your own 

equation.

 + 3 = 

643
48+

The party is at 2 p.m.  In 
only 12 minutes the party 
starts.  What time is it right 
now?

Anna has a bowl.  She puts 
24 pennies into the bowl.  
Justin sees the bowl and 
takes some pennies out.  
The bowl now has 17 cents 
in it.  How many pennies 
did Justin take?

Fill in the missing 

addition or subtraction 

operations.

7  4  2  1 = 6

7  6  3  1 = 9
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Help Robot find Rover.  Color the boxes that have a 
difference of 6 or 4 to make a path.

10 - 6 = 12 - 8 = 12 - 11 = 11 - 7 = 11 - 4 = 7 - 2 = 14 - 2 =

7 - 3 = 13 - 9 = 9 - 5 = 14 - 4 = 10 - 3 = 11 - 10 = 12 - 10 = 7 - 5 =

14 - 10 = 7 - 3 = 9 - 5 = 8 - 4 = 12 - 6 = 8 - 5 = 15 - 10 = 13 - 8 =

10 - 7 = 14 - 11 = 12 - 9 = 14 - 3 = 12 - 8 = 15 - 11 = 14 - 10 = 7 - 1 =

13 - 10 = 15 - 6 = 11 - 10 = 8 - 7 = 12 - 11 = 13 - 3 = 9 - 2 = 13 - 9 =

8 - 7 = 7 - 6 = 7 - 4 = 13 - 4 = 10 - 8 = 13 - 11 = 7 - 2 = 10 - 4 =

15 - 11 = 8 - 2 = 15 - 11 = 7 - 1 = 13 - 9 = 10 - 4 = 12 - 6 = 12 - 6 =

13 - 7 = 7 - 1 = 9 - 5 = 15 - 9 = 13 - 7 = 8 - 2 = 8 - 4 = 7 - 3 =

9 - 8 = 9 - 7 = 10 - 3 = 14 - 13 = 10 - 7 = 11 - 8 = 12 - 11 =
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Anne saved 80 cents to 
buy a card for Mickey 
Mouse. She needs 35 
cents more. How much 
does the card cost?

Robert needs 79¢ to 
buy a book about the 
stars. Draw coins to 
show two different ways 
he can have 79¢.

Jason spent 21 minutes 
watching television. 
Then he practiced his 
Citizenship Day speech 
for 25 minutes. Now it is 
5:27 p.m. At what time 
did Jason start 
watching television?

Sudoku Sums of 6
Each row, column, and box must have the numbers 1 through 4.
Hint: Look for sudoku sums.  The sum of the two boxes inside of 
the dashed lines is 6.

Here is an example of a sudoku sum of 6: 1 5

3

1

2

1 2

1 6
+ 9 7

12 - 5 = 10 - 4 = 2 + 3 = 9 + 8 =
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Add.  Fill in the blanks.

+ 8 1

8 16 9

5

+ 7

2 5

5 9

luhng

luung

luhg

lung

Count by 1s.

7 , 8 , 9 , , , , , , ,

Draw ONE continuous line that touches every box ONCE.
Count by 1s.  Find the box with the number 7.  Move up, down, right, or left.
Keep counting until you reach 24.  Do not move into a spot with a ghost.

24

16

7 8

6 9 + 2 =
Color in 1

3
.

7 8
- 6 7

stopping

stopihn

stoppeng

stoppig

2
9

+ 9 4

Can you think of a five-letter word 
that has the vowel A in it?

Write the correct symbol.

< = >

63,172 73,172

word root tion can mean act or quality aviation, extraction, retraction

1 0 x 8 =

7 14
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

B N D G W M R L

D D S C K T L K

T D W L L M T L D

H S C W S T

L K P H T W M C

T H U V R K

P G T W T

L M G E T M

V L T H R S T

K K G S P R N G

HUGE DOCK THIRST TAME
WAS EVIL DWELL TALK
SPRING BAND

9 2
- 8 3

5 8
- 3 0

3 2
- 2 7

3 9 - 8 =

08 08 3
4

567
8
9
10

11 12 1
2

2
x 1 2

You ask Sarah for the time. 
She says it is four minutes past 
five.  Write the time on your 
digital clock:

5 4
+ 1 5

3 8
+ 8 6

8 0
+ 6 2

Adam looked at his town's 
website. There are 13,775 
people over age 55 in his 
town. In 1994 there were 
10,749 people over age 
55 in his town. How many 
more older people are 
there in his town now 
than there were in 1994?

1 2 x 2 = 7 x 3 =

7 9 + 3 =

19 + = 24
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59
- 21

311
- 23

87
+ 48

98
- 73

94
+ 45

65
+ 96

46
+ 28

96
- 83

03
+ 84

54
+ 04

09
- 41

311
- 18

711
- 15

68
+ 82

11
+ 99

911
- 69

541
- 78

36
+ 24

71
+ 86

95
+ 21

14
+ 31

13
- 11

08
- 71

541
- 78

131
- 37

101
- 07

55
+ 04

65
+ 83

23
+ 21

751
- 48

801
- 27

001
- 62

49
+ 17

68
- 95

81
+ 39

58
+ 16

86
- 43

25
+ 46

56
+ 86

77
+ 45

78
- 91

041
- 75

3
+ 6

+ 2

+ 5

61
+

12
-

31
+

71
+ 8

+ 8

+ 3

63
-

33
+ 4
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= - 9 0 - 7 3 6 7 = 6 4 4 - 1 - 3
3 2

Use the pieces above to help you fill in the runaway math puzzle.

15,  17,  19,  21,  ,   25, 

 27,  29

double 50 Write this number:
2 hundreds, 8 ones

B,  F,  C,  G,  D,  

,   E,  I,  F,  J

double 900 It is 7:47 when Anne leaves 
her house.  She arrives at 
school at 8:06.  How much 
time has passed?

Circle the abstract noun.
tree, pecan, joy, forest

6 + = 37 17 + = 31

5 - 2 4 - 1

6 9

- 1 3 = 6 - 0

5 6

= - - =

5 6 5

= 6 -

4 7 2

-

9 - 7 = - 0
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43
01-

30,  40,  50,  60,  70,  

,   90  - 10 = 7

    18 -  = 17

Find three ways to 

make 13.

  +  = 13

     +  = 13

        +  = 13

Ava has three nickels and 
four dimes.  She is at the 
candy store.  Each 
chocolate coin is ten cents. 
How many can she buy?

Draw 6 small squares.  

Then color in some to 

show 1
3

.

5 less than 865 Write this number:
7 hundreds, 8 tens, 5 ones

Write an even number.

67
4-

I,  K,  K,  ,   M,  M,  

O,  N,  Q,  O

3 less than 763

5 - 2 + 5 - 4 7 x 9 Write this number:
9 thousands, 4 hundreds, 2 
tens, 3 ones
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= 19 = 2 = 11 =

It may help to give values to pictures.

You should only mark TRUE if you are absolutely sure it is correct!

>
True False

>
True False

=
True False

=
True False

=
True False

Did you find that three are true?  If not, look again!
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
23

is the sum
10 12

-3

4

18
is the sum

4

-5

7

20
is the sum

7

-3

12

Example:
10 + 12 + 4 - 3 = 23

Example:
4 + 7 + 12 - 3 = 20

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -3, -5, or -8.
The other three numbers have to all be DIFFERENT and must be from these: 10, 18, 11, 
12, 17, 7, or 4.

2617 7

-8

10

37 18

odd

17

-5

32 -3

10

37
either -5 or -3 less than 18

even

34
less than 18 either 4 or 17

even

33
either 4 or 17

-3

odd

either 10 or 12

2612

even

even

23 4

even

odd

either 17 or 18

either 10 or 12
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -5, -7, or -6.
The other three numbers have to all be DIFFERENT and must be from these: 5, 11, 17, 
9, 18, or 16.

3217 -6

16

5

38 11

even

16

17

27
less than 16

-5

5

16

20
less than 16 odd

odd

41
odd odd

18

39
odd greater than 16

less than -5

319

odd

odd

33
odd less than 16

less than 17

27
less than 16

5

less than -5

less than 18

32
greater than -6

greater than 9

even

31
even

less than 17

either 11 or 5

31
even odd

less than 18

25
either 16 or 5 greater than 11

even

odd

27
greater than 11

either 11 or 5

even

less than 16 odd

odd
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